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Question Number : 1 Question Id : 70819114940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819149831.

70819149832, 2

70819149833.

70819149834, °

Question Number : 1 Question Id : 70819114940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
“9 x%|dx &1 QUidT (integral) 9 &4 3.
—4
Options :
m
70819149831, °
122

70819149832, 3

70819149833, 2

70819149834, °

Question Number : 2 Question Id : 70819114941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is s The sum of the cubes of its terms is :

Options:
31
70819149835, 1°
108

70819149836, 17

M| i

70819149837.

5
70819149838. 7



Question Number : 2 Question Id : 70819114941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YAl & (Geometric Progression) T 3°d TSl (infinite number of terms) ¥V 3 3.

31f0T T Ueie ql AN ; S, TR Al YSIA OTell (cubes) W R 3TE.

Options :
31

70819149835, 1°

108
13
70819149836.

M|E:i

70819149837.

E
70819149838, 7

Question Number : 3 Question Id : 70819114942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819149839, F =P V4

70819149840, (P~ 9 =P

70819149841, P~ PV @) v (~9)



20819149842, PV ~P) A (q v (~q))

Question Number : 3 Question Id : 70819114942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el feeledl E@U UGTdell (Boolean expression) HEY PIVl GeTdell FJeU (tautology) e ?
Options :

70819149839, F =P V4

70819149840, (P~ =P

70819149841, P~ PV @)V (~9)

70819149842, (P "P)~(q v (=)

Question Number : 4 Question Id : 70819114943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [a| <1, [b|<1, [c|<1and x=} a",y=) b",z=) " [ . Ef , are in Arithmetic

n=0 n=(0 n=0

Progression, then :
Options :
70819149843, & b and c are in Arithmetic Progression

70819149844, & b and c are in Geometric Progression

70819149845, & 2b and c are in Arithmetic Progression



! : atickr The—
70819149846, & b and ¢ satisfy 2b-=ac

Question Number : 4 Question Id : 70819114943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

441
v BN Al (AP)

HAGT |a<1, bfil,cilH@Tx:la",y:lb",zzlc"ﬂ;f ?

n=( n=( n=(

e red, W

Options :

70819149843, & P VT ¢ & TR & #EY 1.

70819149844, & P ST ¢ & A HGl (G.P) HA SHe.

a, 2b 30T ¢ & 70T #El He 3.
70819149845,

20819149846, & P I ¢ & 2b?=ac &1 Tl Fa@

Question Number : 5 Question Id : 70819114944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M +7n+5

n!

i

n=1

is equal to :

Options :

70819149847, 19e+5

70819149848, 15¢—5

70819149849, 16e—5



70819149850, 16€—7

Question Number : 5 Question Id : 70819114944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2I?’I'nIE

n!

o

. 2n

S
pram—
fi=

=1

W[EX e,

Options :

70819149847, 19e+5

70819149848, 19¢—5

70819149849, 16e—5

|

70819149850, 16€-

Question Number : 6 Question Id : 70819114945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 109+ (3 (4)°2) + \ is divisible by 9 is :
Options:

70819149851, 2

70819149852,

=]

70819149853.

70819149854, 1



Question Number : 6 Question Id : 70819114945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

\ I YT &9 Qlid] e (least positive integral value) T8 @1 10°0+(3 X (H2)+) 2 9 7
fqusa (divisible) 38, 3%

Options :

70819149851, 2

70819149852.

|

70819149853.

70819149854, 1

Question Number : 7 Question Id : 70819114946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options:

70819149855, 435

70819149856, 421

70819149857, 435

70819149858, %1



Question Number : 7 Question Id : 70819114946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
qY 4,5 3T 6 65 & T TeieilT (co-planar) FHUTT T FAHIGR VWfaY &MEd. W IR fdar @

Y& R fiiq 91 WE I (cyclic) T, 0T T (distinct) YHER VRN 3 g1 WH THE
(collinear) &I, T 3GE (exactly) T g AT S0 qgjmiu'ﬂ e |-

Options :

70819149855, 455
70819149856, 421

70819149857, 435

70819149858, %1

Question Number : 8 Question Id : 70819114947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' ax—b ) )
———— has an extremum at the point (2, —1), then the values of a and b are :
(x—1)(x—4)

Options :

Ify=

70819149859, =1, b=0

70819149860, 2= b=1
70819149861, a=0, b=-1
a=-1, b=1

70819149862.



Question Number : 8 Question Id : 70819114947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gy =% g (2, 1) 1 fdgd AR {1 fAM (extremum) 3, TR a 0T b T
X i

™ 3

Options :

70819149859, =1, b=0

70819149860, 2= b=1

70819149861, a=0, b=—1

70819149862, 2= — L P=1

Question Number : 9 Question Id : 70819114948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes _; {2'!'. I )1 Bk' t5=0 and ? |,6';" | 3; 6k| +2=01s:

Options :

70819149863. 13

70819149864, 4

13
70819149865, ¢



s

70819149866,

Question Number : 9 Question Id : 70819114948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(23 +j -2k +5=0 &1 7|6 +3 ] ~6k|+ 2= 0 T At GiFR (dlistance)
e,

_y
r-

Options :
2

70819149863, 19

15
70819149864, 4

13
70819149865,

E

70819149866, -

Question Number : 10 Question Id : 70819114949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5
The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

[~

H

70819149867.



70819149868.

70819149869. 2U

12

70819149870, 2V

Question Number : 10 Question Id : 70819114949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i 1
X aftr Y a1 2 faeneaied Temeie U6 e (problem) SISvAMTS] @ WG SHH o

l L] » LY LY i LY L] Y
3o 5 2. TR S WO Y WefvaE We Gl ) T el e 3G T
Wefquml §9e@ J.

Options :
7

70819149867. 20

20
70819149868.

1
70819149869. 2U

Gl

70819149870. 2V

Question Number : 11 Question Id : 70819114950 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The polar form of the cnmplex number 1+1 is r_-qual to:
1—i

Options :

cos — +1 sin—
5 5
70819149871. = =

— —

al S [l
oS ——1s5IN—

70819149872. -
COSE F i EinE

70819149873. '
cos L [ sini

70819149874. ' '

Question Number : 11 Question Id : 70819114950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0 o < s (complex number) §di¥ AR (polar form) SREX 3.
i
Options :
cos = +i sin—
7 7
70819149871. = =
cos — isin%'
70819149872. '
cos = +isin—

70819149873.



cos — — 1 sin—
70819149874, 4

Question Number : 12 Question Id : 70819114951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

2
70819149875, <
70819149876. -

70819149877.

[==1

70819149878.

Question Number : 12 Question Id : 70819114951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WX U1 T TG, Wl (1, 0) SMvr (3, 0) A I SISu YWIEE (segment) 2 : 1 A
UG fa4rT SfdT e o YeEeY og 3@, ar=7 38, W ad Jod eI
B,

Options :

70819149875, 2

70819149876. -

70819149877.



70819149878, |

Question Number : 13 Question Id : 70819114952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle o yz— 2v =0 with respect to
the line x+y=2, is :

Options :

-2 2-— " . i At
70819149879, Xty —2x+4dy+3=0

-

2+ P —4x—2y+4=0

70819149880.

Wil ad o ggd e -
70819149881, 2"ty —x+y+1=0

il ek 2 P Ty o
70819149882, ¥ TY¥ ~2x—4dy+3=0

Question Number : 13 Question Id : 70819114952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eﬁﬁéﬁf WHIGYUT, o aﬂ‘uﬁ x+y=2 VU= WY& (with respect) STV 1‘2+l.r3-- 2r=0 T
Il ARG UMl (mirror image) &8, 3.

Options :
70819149879, ¥ty —2x+4y+3=0

70819149880, X t¥ —4x—2y+4=0

il ard L oard ) e 10
70819149881, 2"ty —x+y+1=0



-

24yl =Dy —: al
70819149882, ¥ ¥ x4y +3=0

Question Number : 14 Question Id : 70819114953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%

(x+1)° L -1)
> 32

Equations of the common tangent of the eﬂipso =1 and the circle

(H1P+ (g~ 12=4 are:
Options :
70819149883, ¥13=0 and x—1=0

70819149884, ¥ ~3=0 and y+1=0

70819149885, ¥+3=0 and x—1=0

y-+-3=[] and Y- 1=0
70819149886.

Question Number : 14 Question Id : 70819114953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fag (ellipse) (x _lﬁll)_ | U .,”h =1 iy E‘g‘ﬁfi (x+1)2+ (y -1 =4 T AFES (common)

2 32
KT IE C I | )
Options :
70819149883, ¥+3=0 and x=1=0

70819149884 x—3=0 and y+1=0

70819149885, ¥ +3=0 and x—1=0



y-+-3=[] and y -1=0
70819149886.

Question Number : 15 Question Id : 70819114954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_. 1 a
If A= {” J , then Ak (keN) is :

Options:

70819149887.

70819149888.

708191498809.

{l kﬂ
0 0
70819149890. *

Question Number : 15 Question Id : 70819114954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WX A=

1 2
: ;‘ X Ak(keN) _ amw

Options :

70819149887.



1 k“a
.[-'l 1 -

k ka
0 k

70819149888.

708191498809.

{l kﬂ
0 0
70819149890. - '

Question Number : 16 Question Id : 70819114955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
xy+ 212-1- 3,1'3 —0
xy+3x;+sx3=t

has no solution, are :

Options :

70819149891, S=2 t=13
70819149892, 55

70819149893. -

70819149894.

Question Number : 16 Question Id : 70819114955 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s SMOT ¢ = Jeu, w1 widl
xl+-212+ 313=9

X, +3x,+sx;=t T FHIGRUIAT WUIeidl Shef -el, 3.
Options:

70819149891, $=2, =13

70819149892, §# 2

70819149893. -

70819149894.

Question Number : 17 Question Id : 70819114956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x . | ( 2_1' A . i =1 ( 2.1'
Derivative of tan ‘ with respect to sin = ‘ in (1, =), is:
1-x") \1+x" )
Options:
70819149895,

70819149896, ~ 1

70819149897.

-2

70819149898.



Question Number : 17 Question Id : 70819114956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ur 2x ) 2x )
tan 1[ a . ‘ B sin 1[1 5 ‘ T U (with respect) fd@eH (Derivative) (1, ») A&
k.] - 5 | 14 X )
- |-
Options :
70819149895, '

70819149896, ~ !

70819149897.

-2

70819149898.

Question Number : 18 Question Id : 70819114957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— — —_  — - —

7y i ‘_“ 0 I
C :
Let a, b and ¢ be three vectors such that ‘a‘: = Tzl' [f axlaxc, tb=10, then

b

—_— —

the acute angle between a and ¢ is:

Options :

>3

70819149899.

NE

70819149900.

70819149901, °



5w
12
70819149902.

Question Number : 18 Question Id : 70819114957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= :1.Tﬂa><|.a><c,]lb—-0

~J

b

s i e e

I\J|

GE : oy ? ned ?I‘HEE‘H (acute angle) 8.

Options :

>4

70819149899.

4

70819149900.

m
3

70819149901.

s
12
70819149902.

Question Number : 19 Question Id : 70819114958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

sl -1 tan'lj._.r
70819149903, Y~ 1 tan ytce



1 tan 'x

y=tan “y—1+ce

70819149904, *

x=tan ty—1 v:::E-"t_‘i"wmlf'Jr
70819149905, y

il : 1. . tan Lx
70819149906, ¥~ tan y-1-ce

Question Number : 19 Question Id : 70819114958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{1-+-y2)dx={tan ly —x)dy I CEISCaRLIGEL (differential equation) o 9|
Te.

(Ve ¢ Hoaqra dd 38)

Options :

st -] —tan~ y
70819149903, Y~ 1 tan ytce

1

y=tan™ y—1+ ce tan x

70819149904.

e —1 --tin_'lj.;
70819149905, Y- tan y-ltce

70819149906.

Question Number : 20 Question Id : 70819114959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W . % .
The values of x, for which the vectors a = (1'2 16)i+4] {xz 25)k make acute angles with

the (positive directions of) coordinate axes lie in :

Options:



70819149907, L2 ~4lw 4 5]

70819149908, =24 © (=4 3]

70819149909, (72 —4) v (& 5)

70819149910, (¥~ (743

Question Number : 20 Question Id : 70819114959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

VYA A a=(x 16)?|4'}’ (2-B)k ¥ WRE & e (positive
directions) F<¥® &M (coordinate axes) AP DYdl, T e
Options :

70819149907, L2 ~4l w4 5]

70819149908, [ ~5-4) © (=4, 5]

70819149909, (72 ~4) v & 5)

20819149910, ("> H 2 (=4 5)

Mathematics Section B

SectionId: 708191541
Section Number: 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191821
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819114960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
)

T [T+ cos2x
0 wl =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819114960 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

~ :

=

" ¥ cosdx
RN
0

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 22 Question Id : 70819114961 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Otan20 +4cot20 9 fHaME e (minimum value) e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"
The length of the perpendicular from the point (1, 2, 3) to the line = =

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

__ —x+6 _y-7 _z2-7 . s
(1,2, 3) T faguREd l,‘ __L’j =y 1 WA Flecicdl @dml (perpendicular) el

e

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114963 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: ; Sl
If Iog3 2 Ing,-5 (2*=5) and 1053' Ly % | are in Arithmetic Progression, then the value of x is
' ' 2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 24 Question Id : 70819114963 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
R log; 2, log, (2¥—5) MM logs |i i %J 2 TG %Gl (Arithmetic Progression) W& Teq.
Wrdqd__ 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114964 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. i 132 R
If x2+x+1=0, then Jh i| I|x2
X/

\

Response Type : Numeric

1
<) U 2))
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114964 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Rrnie s . : ; 1
W x2+x+1=0 W {Il = |II2 _| lllxa e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819114965 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y?=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114965 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
W24yl —dx-2y-11=0 2 UF dfe 2 N agaren (4, 5) U NN Whier dreedr awd

e B W8 W U6 deH MR gl o deE (quadrilateral) &= LGRS
nel .

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819114966 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114966 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WY el fgUS fqa¥uId (binomial distribution) HET (mean) 3MUT WXVl (variance) didl S¥IW
15 318 3for iean e §80d 117 318, TY o0 Hdeiedl draul (independent trials) @I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819114967 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, de Z with ged (|2, |b|, |c)=1,
then |at+b+c+d|isequalto .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819114967 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Al (1,2, 6),(2,5,7) 9 fSAET WO ST 4 -y +2=15 A1 Uelellell <id JHUTAT Yeelrd
HAH] axr+by+cz+d=0 3. W a,b,c,dc Z W8 ged (a), b, |c)=1, W jatb+c+d
WEY

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114968 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It 7w
The number of real solutions in the interval [ ; -‘ of the equation 4sin®y —8sinx +3=0
15

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114968 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T-‘ a1 HRIeAl (interval) Aeled dcd (real)

e |

4sinx—8siny+3=0 U FHHU [l { ;
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114969 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
1

1 10
Let Al, Az, A3, ....... be an increasing geometric progression. If T4 1_5,

ﬁ and

A;A,=44], then 3(A,+A,) is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 30 Question Id : 70819114969 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HHT Al, AE, Aa, ....... & dledl q-Lﬁflﬁbl 1A | (increasing geometric progression) e, W

1 1 10

e o
As Ag 63 ;T AA =M1, T 3A+A) RN 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Aptitude Test
Section Id : 708191542
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191822

Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 70819114970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the “‘UNESCO" ?
Options :
70819149921 United Nations Educational, Scientific & Cultural Organization.

70819149922, United Nations Educational Sc-curit}-' Cultural Drgani_zatifm.

70819149923, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819149924,

Question Number : 31 Question Id : 70819114970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el {eiedl WigEdd ‘el 9 g S9ed Jodl

Options :

70819149921 FAICS I Thua, GEChid 3Ts hodid TN

70819149922, 3 ICE Y Tb¥He HagRE Feard SRR

20819149923, FTACS TRH TTAH WEC BIAM SRR

20819149924, TTACS T TIHYC, WG U Heavel I

Question Number : 32 Question Id : 70819114971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L
List - 1

(I) Hall of Nation (a)

(II)  Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819149925, (D-(b), (ID-(a), (II)~(d), (IV)-(c)

20819149926, V-0, (ID-(d), (I)-(a), (IV)-(b)

20819149927, 1@, (ID-({), (I)-(c), AV)-(d)



20819149928, OBk (IHa), (<), EV)L{d)

Question Number : 32 Question Id : 70819114971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
EN - 19 - 11 A28 A = o ¢
-1

i) ar

(1) 2 3% =9 (a)

(I) WifeiT dfex, UReT@Ii-a (b)

(I UgIE clax (c)

(IV) ¥helEe (d)




Options :
70819149925, (-(b), (ID-(a), (ID)~(d), (IV)-(c)

70819149926 (D)-(c), (ID)-(d), (ID)-(a), (IV)-(b)

70819149927, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819149928, 0P} (1D-(@). (<), AV)-(d)

Question Number : 33 Question Id : 70819114972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819149929, D-®), (I-©), (@), (IV)-(a)

70819149930, (D-(b), (ID-(d), (TM)-(c), (IV)-(a)
20819149931, (D), ()-(a), (ID)-(b), (IV)-(d)

70819149932, () (-@). (MD-(d), (IV)-(<)

Question Number : 33 Question Id : 70819114972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
N - 19 =0 - 11 99 a1 e o ¢

- 1 - 11
() oHw (a) Taereiivar #ARTE Bid
(I foeet (b) wfeTe HfER
(1) Hage i (c) TEXa! AkE
(IV) P (d) Foig =are
Options :

0815149625, -B), (D-©), A-@), (V)@

70819149930, (D-(P), (ID)-(d), (I)-(c), (IV)-(a)

20819149931, (D), ()-(@), (I)-(b), (IV)-(d)

20819149932, W0} (1)-@), (AI)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819149933, D-(b), (ID-(c), (IID)-(a), (IV)-(d)

20819149934, D), (ID-(b), (IID)-(c), (IV)-(d)

70819149935, 1) (D-(a), (ID-(d), (IV)-(b)

70819149936, V() (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ - 19 Gl - 1 48 Ird Girs ol ¢

- 1
(Iy &mm fheen (a)
,_:.',“ . l'_,.+_' K
(1) e e ) EE ““d'
(IIT) el fagafqemera (c)
(IV) STy Hfew (d)
Options:

70819149933, 1-(B), (I)-(¢), (D)-(a), (IV)-(d)



70819149934, (D-(@), (ID-(b), ([D)-(c), (TV)-(d)

70819149935, M9 (-(a) (IID-(d), (IV)-(b)

20819149936, V- (P) (ID-(@), (D)-(c), (IV)~(d)

Question Number : 35 Question Id : 70819114974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITI) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

20819149937, (D), ()-(d), (ID)-(b), (IV)-(a)

70819149938, (D-(©), (I-(d), (IM)-(a), (IV)-(b)

20819149939 (D), (ID-(b), ()~(c), (IV)-(a)

70819149940, (D-(b), (M-(d), (ID-(), (IV)-(c)

Question Number : 35 Question Id : 70819114974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A - 19 G - 1 A A e ol

- 1 -1
() FEds S (a) HATAl
(1) faw #eR (b) SFTER
(1) fe<shar Hfex (c) fiER
(1v) =0 #fex (d) gFER
Options :

20819149937, D), (I)-(d), (ID)-(b), (IV)-(a)

70819149938, (D-(), (I)-(d), (I)-(a), (IV)-(b)

20819149935, (0-(@), (D-B), [MD)-(c), IV)-(a)

70819149940, (D-(b), (I)-(d), (D)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
20819149941, (D-(@), (I0)-(d), (ID)-(b), (IV)-(c)

70819149942, (D-(d), (I)-(c), (D-(a). (IV)-(b)

20819149943, (D-(d), (ID-(c), (D-(b), (IV)-(a)



70819149944, 0@ (ID-(b), (ID)-(d). (IV)~(c)

Question Number : 36 Question Id : 70819114975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I - 19 Gl - 11 A8t A ST ol ¢

- 1 T - 11
(I) #RTe fheen (a) TuEE
(I) 1 feheen (b)  PTeTdl
(IIT) Ta@diel Thoe (c) faeell
(IV) ®Ic faceias (d) whEgR
Feelua! arg g fHaer -
Options :

70819149941, (D@, (D-(d), (ID-(b), IV)-(c)

20819149942, (D-(d), (ID-(c), (ID)-(a), (IV)-(b)

20819149943, (D-(d), (I)-(c), (ID)-(b), (IV)-(a)

70819149944, 9@ (D-() (). (IV)Ac)

Question Number : 37 Question Id : 70819114976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Book ‘God of small things’ is written by which Indian Architect ?
Options :

70819149945, B-V. Doshi

70819149946, Arundhati Roy



70819149947, Revati Kamat

70819149948, Dimal Patel

Question Number : 37 Question Id : 70819114976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DIV HRAE dRgfaefdeRe & e 3 Wid R a1 (Wor odEd 3ed?

Options :

70819149945. farte. <rem

70819149946, ¢ Tdl X4

70819149947. ¥ @

70819149948.

Question Number : 38 Question Id : 70819114977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options:

70819149949, CUarat

70819149950, "Vest Bengal

70819149951, 1amil Nadu



70819149952, Rajasthan

Question Number : 38 Question Id : 70819114977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T o Ty Y

"SRGl 1 Ugardl REsal 10 Uaen e ?

Options :
70819149949. ]

70819149950.

70819149951. 3

70819149952, (V¥

Question Number : 39 Question Id : 70819114978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819149954, South-East side

70819149955, Vorth side

70819149956. South-West side



Question Number : 39 Question Id : 70819114978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
YR SUEed deH 9N HIvRal e ydel Sy ?

Options :

70819149953, 9 IS

70819149954, 3714 <3

70819149955, ST¢ 12

70819149956. T fan

Question Number : 40 Question Id : 70819114979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
20819149957 bharat Bhavan in Bhopal

70819149958, LIC Building in Delhi

70819149959, Charminar in Hyderabad

T- 1 F - - e s .
70819149960. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819114979 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Grefl faetell IV HRG™ SANG THEG dgdell’ Ggd Seidd ?

Options:

70819149957, TR A HUT

70819149958, -3 Hl. ARG faeed

70819149959. dIRTHAIR padldis

70819149960. JaCIRA HHIRTS DA

Question Number : 41 Question Id : 70819114980 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :
20819149961 420 x 590 (mm x mm)

70819149962. 420 x 594 (mm x mm)

70819149963, 297 ¥ 420 (mm X mm)

70819149964. 420 = 592 {1‘1‘11‘1‘1 W nunj

Question Number : 41 Question Id : 70819114980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T—2 To& U=HIhdl/ BRIEM AU $E HEdd 7
Options :

70819149961, 420 590 (AT < FHTH)

70819149962, 420 %594 (FTH < T417)

70819149963, 297 420 (FTH < i)

70819149964, 420 > 592 (fAfH x fAfH)

Question Number : 42 Question Id : 70819114981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :
70819149965, Chittor fort

70819149966, J'ﬂigarh tort

70819149967, bhangarh fort

70819149968, ‘mer fort

Question Number : 42 Question Id : 70819114981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faog WY P fhoeaay fraa ame?

Options :



70819149965.

70819149968, 3% T fHew

Question Number : 43 Question Id : 70819114982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819149969, Samjay Puri

70819149970, ¥ ikram Lall

70819149971, ‘shok Lall

70819149972, & Sompura

Question Number : 43 Question Id : 70819114982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g HeR 'HERY™' d1 DA IRGYRGH YA $ell 3E?

Options :

70819149969. t{;ﬁ



70819149970, (94 @d

70819149971, ¢ o

70819149972. . L

Question Number : 44 Question Id : 70819114983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819149973, Charles Correa

70819149974, Richard Mier

70819149975. Jasbir Sachdev

70819149976. Ranjit Sabliki

Question Number : 44 Question Id : 70819114983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"dicgd 3R @ Aifediue vl aRgfaenfaeeEay s e’
Options :
70819149973. *

70819149974, s



70819149975, “IMIER sidad

70819149976, YUTSIld E

Question Number : 45 Question Id : 70819114984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change

70819149977.

70819149978. Global warming,

708191499709. Sustainable development

70819149980, Smart city

Question Number : 45 Question Id : 70819114984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘Fuiel-21" & HEUIGS HuEl Sl e ?

Options :

70819149977. CINIEEUIRISREET



70819149980, TC ¥eX

Question Number : 46 Question Id : 70819114985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India 7
Options :

70819149081, arnataka

70819149982, Orissa

70819149983, Maharashtra

70819149984. Uttar Pradesh

Question Number : 46 Question Id : 70819114985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARG QU 9RAgT S0 g g dred 7

Options :

70819149981.

70819149982, HMX

70819149983, oI

70819149984, ST% H&¥



Question Number : 47 Question Id : 70819114986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819149985, North

70819149986, Scuth

70819149987, Last

70819149988, West

Question Number : 47 Question Id : 70819114986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Sf&Ur ey Aed WiaeiRied el B fG¥E swdr 7

Options :

70819149985, 5%

70819149986. :

70819149987. q“_ci

70819149988, T¥9H

Question Number : 48 Question Id : 70819114987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819149989, b-V- Doshi

70819149990, Laurie Baker

70819149991, & Rewal

20819149992 Ach}-'ut Kanvinde

Question Number : 48 Question Id : 70819114987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2018 el YleedY UIRdfte f§au uféel IRGT dRgdenfaeRg oo ?
Options :

708191499809. fafee. <

70819149990, 1Y SR

70819149991, 1191 YA

70819149992, &! l

Question Number : 49 Question Id : 70819114988 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Word “Bungalow” has originated from :



Options :

70819149993, Bengalurm
70819149994, Banaras

70819149995, bengal

70819149996, Dari

Question Number : 49 Question Id : 70819114988 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
"Gl T YEE e DIg el ITE 7
Options :

70819149993, ¥ 19

70819149994.

70819149995.

70819149996, T4

Question Number : 50 Question Id : 70819114989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819149997, Laurie Baker



70819149998, Louis Kahn

70819149999, Lutyen

70819150000, Le Corbusier

Question Number : 50 Question Id : 70819114989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el feicdl DU IRGPRM A-.JHTH. IJeqaEs °l Y91 $eil e 7

Options :
70819149997, © L

70819149998, % P

70819149999. 3

70819150000. B g

Question Number : 51 Question Id : 70819114990 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :

70819150001, 14



70819150002, 13

70819150003, 12

70819150004, 18

Question Number : 51 Question Id : 70819114990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el fSetean agamel fbdl dRE aed ?

Options :

70819150001, 1%

70819150002, 13

70819150003, 12

70819150004, 18

Question Number : 52 Question Id : 70819114991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819150005.
I
I
70819150006.
.
_I .-
| |
70819150007.
I | |
70819150008. m

Question Number : 52 Question Id : 70819114991 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el feetell it o (3-<1) sAfevarerd droml 3rg B S sl fael.

Options :
I e
|- |
70819150005.
I
I
70819150006.
.
_I oy
| 1
70819150007.

70819150008.



Question Number : 53 Question Id : 70819114992 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

o [IE o
Options :

A
708191500009.

A |
70819150010.

\
70819150011.

70819150012.



Question Number : 53 Question Id : 70819114992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feoieul SomETe e TRl fEEM Bl M@UIN UMY ARG 9N Addl JYH fHael.

= >

[

Options :

A
708191500009.

N
70819150010.

I
70819150011.

70819150012.




Question Number : 54 Question Id : 70819114993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options :
70819150013.

L]
70819150014,

[ ]
70819150015.
70819150016.

Question Number : 54 Question Id : 70819114993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feeiedl FomEnEe qur=n fG9 Tl Mo Ird ARG 9 A1l AT faer.

I

Options :
70819150013.

L]
70819150014.

[ ]
70819150015.
70819150016.

Question Number : 55 Question Id : 70819114994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

i

T

Options :

70819150017.

70819150018.

70819150019.

70819150020.

Question Number : 55 Question Id : 70819114994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feelell THRN 3 Tl T Nel 599 SUiaal.  qomeal &8 Terl v Arg aRE T
Pl AT fae.

<>

T

Options :

70819150017.

70819150018.

70819150019.

70819150020.

Question Number : 56 Question Id : 70819114995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819150021. >
70819150022. D
70819150023. v
70819150024 ﬁ

Question Number : 56 Question Id : 70819114995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MY Sl U6 il 8 T ¥ 9 G ABRA §86 AGaHe vl e, g
Wiy .

Options :

70819150021. E



70819150022. D
70819150023. ;
70819150024. ﬁ

Question Number : 57 Question Id : 70819114996 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819150025.

70819150027.

W
70819150026. Q
0
N

70819150028.



Question Number : 57 Question Id : 70819114996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wigme] Seiderell T Aidal & WY 28 9 TF HRA T8 AGamed SHidel 3. g
W s,

Options :

70819150025.

70819150027.

™
70819150026. Q
0
N

70819150028.

Question Number : 58 Question Id : 70819114997 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819150029.



N

70819150030. i
70819150031. :

70819150032. D

Question Number : 58 Question Id : 70819114997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WM SEildeiell U6 Sddl & @ [$¥H 9 A AHRA Te AGaHed Seideren 3. Arg
Wiy .

Options :

70819150029.

70819150031.

N
A
>

70819150032.



Question Number : 59 Question Id : 70819114998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the f ollowing answer i’igures is hidden in the pmhlc-m figurc- in same size and direction.
Select the correct one.

Options :
70819150033. D
70819150034. D
70819150035. O
70819150036. ﬂ

Question Number : 59 Question Id : 70819114998 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g1 7 SEidetell A1l &1 M S8 9 A ABRM T Aol 7l SEfdel e, AG [
fraer.

Options :



70819150033.

70819150034.

70819150035.

NY YW

70819150036.

Question Number : 60 Question Id : 70819114999 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
H
[]
X
Options:
[ ]
70819150037.

70819150038.



]
[l
]
70819150039,
[
[]
70819150040,

Question Number : 60 Question Id : 70819114999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
X-X 3& TEd g0 I APpard AFY A€y freodn?

X

[]




Options :

70819150037.

70819150038.

70819150039.

70819150040.

Question Number : 61 Question Id : 70819115000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problem t’iguro with
respect to X-X ?

N\
A

N\
(D)
@J

AON
NZ;

70819150044.



Question Number : 61 Question Id : 70819115000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X-X 31& TEd €09 U¥T ATPpard AFY Ufifdg .

X X
Options :
(72
]/
70819150041.
A
NI
70819150042.
70819150043. w

&

70819150044.



Question Number : 62 Question Id : 70819115001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819150045. /
N
NV
N\
70819150046. /
N
P
N/
70819150047. /[\

70819150048.



N4
AN

Question Number : 62 Question Id : 70819115001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X-X & e T WS AP IFY URIET .

b X
TR

\
/
i

Options :

NN

70819150045.

AL/

70819150046.

70819150047.



/N

70819150048.

Question Number : 63 Question Id : 70819115002 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819150049.

70819150050.

70819150051.



N
S

70819150052.

Question Number : 63 Question Id : 70819115002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
DIV STY SApal o faeiedl U SPperdl HAANT oI Hd 7

Al

Options :

74
70819150049.
70819150050.
70819150051. |

70819150052.



Question Number : 64 Question Id : 70819115003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819150053.

70819150054.

70819150055.

70819150056.



Question Number : 64 Question Id : 70819115003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fecienn B (3-31) Pdies oMl ¥ TEm M@ NG iodl.

4

Options :

70819150053.

70819150054.

70819150055.

70819150056.



Question Number : 65 Question Id : 70819115004 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819150057.

70819150058.

70819150059.



70819150060.

Question Number : 65 Question Id : 70819115004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fecte PR (3-31) Apdies T fS8H T AN Irg dRET Sed!.

\n

7

Options:

70819150057.

70819150058.



70819150059.

70819150060.

Question Number : 66 Question Id : 70819115005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819150061.

70819150062.

70819150063.

70819150064.



Question Number : 66 Question Id : 70819115005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feeie P (3-31) AFdies amm= 9 e faN I JREH SeE.

/!

Options :

70819150061.

70819150062.

70819150063.



70819150064.

Question Number : 67 Question Id : 70819115006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/ﬂ

Options :

70819150065.

70819150066.

70819150067.

70819150068.



Question Number : 67 Question Id : 70819115006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feeten (3—<1) PURAE s aorn $3H TBm faum arg aNEd e,

/!

Options :

70819150065.

70819150066.

70819150067.

70819150068.

Question Number : 68 Question Id : 70819115007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

708191500609.

70819150070.

70819150071.

70819150072.

Question Number : 68 Question Id : 70819115007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fEote FufmiE (3-31) ngdies = fS¥F T fenN IrT ARG el

£

Options :

708191500609.

70819150070.

70819150071.

70819150072.

Question Number : 69 Question Id : 70819115008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819150073.

70819150074.

70819150075.

70819150076.

Question Number : 69 Question Id : 70819115008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feciem POREE (3-31) APdies qurl fS¥H B Hou Irg ARG A4,

7

Options :

70819150073.

70819150074.

70819150075.

70819150076.

Question Number : 70 Question Id : 70819115009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819150077. '

70819150078.

70819150079.

70819150080.

Question Number : 70 Question Id : 70819115009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feeiean PR (3-21) sngdiee a9 T iy Irg NG Ao,

7

Options :

70819150077. '

70819150078.

70819150079.

70819150080.

Question Number : 71 Question Id : 70819115010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819150081. —I

70819150082. l

70819150083.

70819150084.

Question Number : 71 Question Id : 70819115010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feetoar uRmfi (3-21) Mpdiee aumal ¥ Terd fenr a7y 3NEd 4.

/I

Options :

70819150081. —I

70819150082. )

70819150083.

70819150084.

Question Number : 72 Question Id : 70819115011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819150085.

L]
70819150086.
70819150087. I:l

L]

70819150088.

Question Number : 72 Question Id : 70819115011 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feoiean BORMOE (3-21) Pdiee U=l ¥ Terd F@N Irg NG Hiodl.

y

Options :

70819150085.
70819150086.
70819150087.

70819150088.



Question Number : 73 Question Id : 70819115012 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819150089. L

|
70819150090. | |
70819150091. | |

||
70819150092. l

Question Number : 73 Question Id : 70819115012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fecicar BroRmfE (3-91) sradiee T 58 1@ Far Iy JiaE Hiodl.

Options :

|
70819150089. l l

|
70819150090. | |
70819150091. | |

||
70819150092. |

Question Number : 74 Question Id : 70819115013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819150093.

70819150094.

70819150095.

70819150096.

Question Number : 74 Question Id : 70819115013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feetear Brfmfi (3-21) dgdies = 9 T2 fovN arg aREd 4.

/

Options:

70819150093.

70819150094.

70819150095.

70819150096.

Question Number : 75 Question Id : 70819115014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819150097.

70819150098.

70819150099.

70819150100.

Question Number : 75 Question Id : 70819115014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feeiean HUR@IvE (3-<1) Pl IFT THEN SuX Pl g Hasl.

Options :

70819150097.

70819150098.

70819150099.

70819150100.

Question Number : 76 Question Id : 70819115015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819150101.

70819150102.

70819150103.

70819150104.

Question Number : 76 Question Id : 70819115015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feoren Bt (3-S1) spdaT IFT Fhren SOX #ddl 7Y fHdel.

Options :

70819150101.



70819150102.

70819150103.

70819150104.

Question Number : 77 Question Id : 70819115016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819150105.

70819150106.



=

70819150107.

=

70819150108.

Question Number : 77 Question Id : 70819115016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fetea o (3—<1) TH<dEl AP THEN SOY Al FYT TG

Options :
70819150105.
70819150106.

70819150107.



=

70819150108.

Question Number : 78 Question Id : 70819115017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}-' the buﬂding compositions of having less visual tension amongst the fo[lowing figurcs.

(A) (B)
(©) (D)
Options :

70819150109, () and (B)

(B) and (C)
70819150110.

70819150111, (©) and (D)

70819150112, (D) and (A)

Question Number : 78 Question Id : 70819115017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fooicyr TaamEd S ARG TEH9E] S4 991 HeeE A4l

(©) (D)
Options :

70819150109, (A) ST (B)

70819150110, (B) 30T (C)

70819150111, (C) 30T (D)

|
70819150112, ©) FMT (4)

Question Number : 79 Question Id : 70819115018 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

Options :

70819150113.

70819150114.



70819150115.

70819150116.

Question Number : 79 Question Id : 70819115018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feoican uee gl Adiel AhENde Ul ¥ TBET e I g faae.

Options :

I
70819150113. |-|-

70819150114.

70819150115.

70819150116.



Question Number : 80 Question Id : 70819115019 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819150117.

70819150118.

2 2 4

70819150119.



70819150120.

Question Number : 80 Question Id : 70819115019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feeiell ¥ P & TP Tben /el TeY WA, IRl UGBl FovR AR e
TG

<\
:

Options :

AN
/N
A\

70819150118

70819150119.



70819150120.

Planning
SectionId: 708191543
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191823
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819115020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819150121. Automobile

70819150122, Clothing and Textile

70819150123, Lrinting

70819150124, Iron and Steel

Question Number : 81 Question Id : 70819115020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GlellciUd! BTl SR URell HBggIYdl cie"d Gucied waadl 7

Options:

70819150121, 91®

70819150122.

70819150123. %

70819150124. o

Question Number : 82 Question Id : 70819115021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of _____ released into the atmosphere.
Options :

70819150125, [Vitrogen



20819150126. Greenhouse gas

70819150127, ©zone

20819150128. Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819115021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T @Elﬁ‘c" " TEUTS] aIENUNd SAlecdl W= YH,

Options :

70819150125, 9%

70819150126. R

70819150127.

weiss Ulficageic Hex (TadimH.
70819150128. ( )

Question Number : 83 Question Id : 70819115022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



KodaiKanal
Kullu
Mount Abu
Panchgani

Mo Nw e

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.

Choose the correct answer from the options given below :

Options :

70819150129, E*D—=B—=A=C

70819150130, L7 B—=C—=D—aA

70819150131, ¢ 7A—-B—D—E

70819150132, * 7D~ C—B—E

Question Number : 83 Question Id : 70819115022 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. TR
B. o9

C. WmGc g
D. Uil
E. UgcTH

el 99 2a91 fSam! S 9RT O SN YRT O $9F dEl. Seidusl 3y 1 e

Options :

70819150129, E*D—=B—=A=C

70819150130, L7 B—=C—=D—A

70819150131, ¢ >A—=B—->D—E



70819150132, A 7P —~>C—B—E

Question Number : 84 Question Id : 70819115023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning Commission in India has been replaced by :
Options :
70819150133, Mo HUA

70819150134, [IT Aayog

70819150135, NIUA

70819150136, [FL

Question Number : 84 Question Id : 70819115023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HRAOMEY Y941 AN (40T SHIEHE) =1 Udal DI F] F0eal JAE?

Options :

70819150133, T1-oN0A4T. (MoHUA)

70819150134. Sl

70819150135. b Ll

20819150136, 1P -3 (PFI)



Question Number : 85 Question Id : 70819115024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone’s Act enacted in India ?
Options :

70819150137, 2005

70819150138, 2007

70819150139, 2009

70819150140, 2011

Question Number : 85 Question Id : 70819115024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YA ‘a9 anfdie fqurmen’ (Ve seiHiae SiH) $aal d@l ol el ?

Options :

70819150137, 2005

70819150138.

70819150139, 2009

70819150140, 2011

Question Number : 86 Question Id : 70819115025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options:
70819150141 Mational Horticulture Association of India.

70819150142. National Heritage Authority of India.

70819150143, National Hydroelectric Power Authority of India.

70819150144, National Highway Authority of India.

Question Number : 86 Question Id : 70819115025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TETAE. 9 SOESy B dE 7 Eeieis! Arg 1Y el

Options :

70819150141, et BlckpedEs SEREITTE e 28

70819150142, 1omel sXIce SARIET $6 31

1M BGEidcd UldY ANl ATE Sl
70819150143. Iz %

70819150144, 1 EEd SHANIET 3H ZE

Question Number : 87 Question Id : 70819115026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?



Options :

70819150145, 19

70819150146, 10

70819150147, 17

70819150148, 18

Question Number : 87 Question Id : 70819115026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HYdd NIegiHl fohdl “enedd [dbra €49’ sdcidel ded ?
Options:

70819150145, 19

70819150146, 10

70819150147, 17

70819150148, 18

Question Number : 88 Question Id : 70819115027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options :

70819150149, 1947



70819150150, 1948

70819150151, 1950

70819150152, 1949

Question Number : 88 Question Id : 70819115027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DI WA, HRd WGNG UIH ARG SR ©ivd el ?
Options :

70819150149, 1947

70819150150, 1748

70819150151, 1950

70819150152, 1949

Question Number : 89 Question Id : 70819115028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options:

70819150153, Superblocks

70819150154 radial pattern

70819150155. high rise development



70819150156 waterbased TIHI'ISPDI‘T.

Question Number : 89 Question Id : 70819115028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
WAAEE ST 9Bl Y9 HeEel g e ?

Options :

70819150153, "orae (FHREIH)

70819150154. ( )

70819150155. E

QUi aedd
70819150156.

Question Number : 90 Question Id : 70819115029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :

70819150157, Durgapur

T AT,
70819150158, Vishakhapatnam

708191501509. Bhubaneshwar

70819150160, Bhilai



Question Number : 90 Question Id : 70819115029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GeAlcAU®] BV ¥ & A=RD 98T 6?

Options :

70819150157. 3L

70819150158. :

70819150159. d

Hreirs

70819150160.

Question Number : 91 Question Id : 70819115030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :

70819150161, AMRUT

70819150162. Make in India

70819150163, HRIDAY

70819150164. P



Question Number : 91 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819115030 Question Type : MCQ Option Shuffling : Yes

Tl faeiell YRT SRR AeHits] DI To URIRE ewidl (25ew 9ié) wafta

e’
Options :

70819150161, 30 (S THIRI L)

70819150162, 7@ ¥1 S5

70819150163, €20 (TF 3R 3T 1.3 A1)

70819150164, S0 (A1.31M)

Question Number : 92 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819115031 Question Type : MCQ Option Shuffling : Yes

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options:

70819150165, 1amil Nadu

70819150166, arnataka
70819150167. Andhra Pradesh

70819150168, Kerala

Question Number : 92 Question Id

: 70819115031 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gellciya] IVl SV R YA Hidd TR 9, SYered YHidie |earl
(CFharId) TV, Walltd ae?

Options :

AT,

70819150165.

70819150166.

70819150167. e

70819150168.

Question Number : 93 Question Id : 70819115032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819150169, 1886

70819150170. 1876

70819150171, 1866

70819150172, 1896

Question Number : 93 Question Id : 70819115032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
‘UG A& fgWrT @l T&aUe HNvag el 7
Options :

70819150169, 1886

70819150170. 1876

70819150171, 1866

70819150172. 1896

Question Number : 94 Question Id : 70819115033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73'd amendment act (73"4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819150173, Lok Sabha

70819150174, -tate Legislative Assembly

70819150175, Cabinets

20819150176. Pancha}-'ati Raj bodies

Question Number : 94 Question Id : 70819115033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819150173. o

70819150174. 5 i

70819150175.

70819150176.

Question Number : 95 Question Id : 70819115034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map Reading,

S Water body Market il
ﬁ?‘m Vegetation m Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital i,

e 205
- 200

Street C

= 200

-----

1 || B 210
s

o
&

o Contour N

G School

With reference to the diagram, choose the correct statement.

Options :

70819150177.

70819150178.

70819150179.

70819150180.

Slope of land on which school is located is flatter than the slope of land on which
hospital is located.

SIOpe of land on which polico station is located is steeper than the slope of land on
which school is located.

Slope of land on which school is located is steeper than the slope of land on which
temple is located.

Slope of land on which school is located is the same as the slope of land on which
temple is located.

Question Number : 95 Question Id : 70819115034 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
20819150177, SNUT® IECicdl SHAE SR & WDl I¥Teicdl WAl SARIIE JAftd e,

2081915017g, TE T INfeiedl WGl SR @ Wl Ifeicdl Wil SARIE Jfd e

20819150179, TN Sl ST SR 3 AR SfHeiedl S SARIVET SEd .

Uil AHeicdl A-El JaN 8 HieY aHeicd] Jff-= JaREda 3.
70819150180.



Question Number : 96 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading,

: 70819115035 Question Type : MCQ Option Shuffling : Yes

-LIJ

” p
g L
: z

: n 210

poecd | 205

_ 1= 200

Street C

200
-""'"‘

Lt 205

rd 210

i 215

] Waterbody [777777] Market
Vegetation w Police Station
E Railway Stn ”IIIHI[I Hospital

Contour N

X

Temple

“] School

[n the given diagram, for a person to travel from railway station to temple, one will have to

move in direction.

Options :

70819150181, North

70819150182, North - East

70819150183, South - West

70819150184, East



Question Number : 96 Question Id : 70819115035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AHTEarE (H AS) ¢

. 200

- 203

210
215

—

Options:

70819150181, °

70819150182. <q

70819150183.

o

70819150184.



Question Number : 97 Question Id : 70819115036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading.

2] Wa

5% Vegetation % Police Station
E Railway Stn I]:I:I:I:I:I:I:I] Hospital

In the given

Options :

70819150185.

70819150186

70819150187.

70819150188.

Street C

. 200

ter bady Market

Contour N

Temple

4] School

W
.

diagram, water body is located at a level :

5m highr_-r than pnlicr_- station.

5 m higher than school.

same level as police station.

same level as school.



Question Number : 97 Question Id : 70819115036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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70819150185.

70819150186, TOUET 5 I ¥F

70819150187, T4 ¥ FqhE A

70819150188. i



Question Number : 98 Question Id : 70819115037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options :
70819150189, 41
70819150190, 1:2

70819150191, ©:1

70819150192, 1:4

Question Number : 98 Question Id : 70819115037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819150189, 41

70819150190, 1:°

70819150191, ©:1

70819150192, 1:4

Question Number : 99 Question Id : 70819115038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :

70819150193, The density of population in urban area is 1000 persons/sq.km.

70819150194. The density of population in urban area is 849 persons/sq.km.



20819150195, The density of population in urban area is 4290 persons/sq.km.

20819150196, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819115038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uedl RHITRE &A%e 510 SUed o 6. . @ie! Al eaberdl diel Hyu
TRHMIST 30% WART AT 3. |YU A qeeT 3% T 9 3.

TR AGEET 7.8 I S A AP FEE T e AlbwaeEdl .
u‘rrauu’raﬁa@:

Options :

20819150193, B YRS el B9a 1000 =aal/991 6 A1, e,

20819150194, TR I Sl asl Bl 849 &aa/ 9 fop AT, &,

20819150195, T84 IRl SIGEHEAT FaT 4290 AqdT/ 9 5 Al ae.

20819150196, T84 AFIRIIE Srdeedl g=dl 7800 T/ fE A ame.

Question Number : 100 Question Id : 70819115039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819150197. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819150198 an Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819150199 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819150200. increase.

Question Number : 100 Question Id : 70819115039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A, B, C = wiledaar 1981-2011.

C
2011 B

C
2001 B
A

C
1991 B |
A

C
1981 B |
A I

| | |
1 1 1
0 5,000 10,000 15,000

g fqge A

I
20,000 25,000

Options :

1981 T 2011 T F1OT T ‘A’ & SPEEEE S9dd T ¥ ‘C’ g dieEe de
70819150197, *419a T,

70819150198.

1981 T 2011, IEY B, GlpEEd THANE Uc SUEd wi@l 98T A dig =9idd

1981 T 2001, TR A @ A0S TAF UG d6d A1E Wl 1981 7 1991 7el =R B
20819150199, 91 GIH¥EAT Hed fUT FX 1991 T 2001 e

Y C APHEd Hell U S9dd wi@l ¥eY B dI¢ S9dd.
70819150200.

Question Number : 101 Question Id : 70819115040 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

) 1
70819150201, 206 kmhr

70819150202, 21.5 kmhr ™

70819150203, 30 kmhr™!

1
70819150204. 28.5 kmhr

Question Number : 101 Question Id : 70819115040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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25 20
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33 15
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Options :
5 1
70819150201, 26 1@ H1. T
1
70819150202, 215 T AT A
30 fe A1, o !
70819150203.
~ 1
70819150204, 28:5 T 1. T

Question Number : 102 Question Id : 70819115041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?



Options :

70819150205, Asa d‘ua_rit}-' hw, privﬂeged penple.

70819150206. As a way to reduce crime.

As a wav to sensiltize travellers about poor living conditions in the society.
70819150207, ) p & )

20819150208 As an adventure activity.

Question Number : 102 Question Id : 70819115041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the ollowmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?

Options :

70819150205, Asa d'na_rit}-' ‘m, privﬂeged people.

70819150206. Asa way to reduce crime.

As a wav lo sensilize travellers about poor living conditions in the society.
70819150207. 3 P & 3

20819150208 As an adventure activity.

Question Number : 103 Question Id : 70819115042 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819150209, Learning

70819150210, “taring

70819150211, eeping

70819150212, Gloating

Question Number : 103 Question Id : 70819115042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819150209, Learning



70819150210, tAring

70819150211, eeping

70819150212, Gloating

Question Number : 104 Question Id : 70819115043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decrea@ing.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options:
70819150213, Both A and R are true and R is the correct explanation of A
70819150214, Poth A and R are true but R is NOT the correct explanation of A

70819150215, A\ 1s true but R is false

A is false but R is true
70819150216.

Question Number : 104 Question Id : 70819115043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819150213.ﬁaa?WWW?%aﬁmwﬁmm.

70819150214_ﬁaa?wqu%mﬁmwﬁaﬂmqﬁ.

70819150215, 3 TXISR U X TP e

70819150216, 3 AP TV X ST 318,

Question Number : 105 Question Id : 70819115044 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children,

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819150217 Both A and R are true and R is the correct explanation of A

70819150218. Both A and R are true but R is NOT the correct explanatinn of A

70819150219, ‘A istrue but R is false

70819150220. A is false but R is true



Question Number : 105 Question Id : 70819115044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819150217-?!:&:%313?@?@H@W?%Hﬁmwﬁﬁﬂﬂﬂ e,

20819150218. Gal 1 9 ¥ GREY ABd U0 ¥ & 3 o Y |CIH U] AlE.

70819150219. o LSRR e,

20819150220, 3 P 3Me 0T R SRMER (&,
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Question Shuffling Allowed : No

Question Number : 106 Question Id : 70819115045 Question Type : SUBJECTIVE

Correct Marks : 50
Draw a proportionate sketch of given reference image by using any black and white rendering
techniques of your own choice.
OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 106 Question Id : 70819115045 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 107 Question Id : 70819115046 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmXx 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE 5 cmx2 cmx 2 c¢m, 4 Nos.

Use ‘Cool Colorscheme” for compnsitinn

Question Number : 107 Question Id : 70819115046 Question Type : SUBJECTIVE
Correct Marks : 50
feban
el fdeiedl M YRz 9% diued gax¥ HuREnia (3-21) =1 |ien.
(i) Obol A : AGHRAF 2 A2 FHAL.x2 HAL. 5 7.
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